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& 3% G6HEGIFHAA Hit 84.2%)

19994£ 1 SAK BN (LB RIEHL 355.6T (LM : 45,780T )22 i
FlEe 422. 3T (@M : 55,6417 %) Hit WEEAA 84.2%, SHFEAA 82.3%2)
TS B,
¥ B RETHRS A9 FHol 159.83TE, WEY 58.0TE, HA 16.6T
€, BdolAo} 274TE, 9F 14.2TE, A=A} 56.1T 8, A 10.0TE,
3.3TE, 28 5.5TE, 4% 44T E, it 0.37 89 RUTHES el

19994F S5A XK ok Wit HH2 &3 2d.

(B« +8)
e 15 5A % &
R % - 3.6
KRR F - 112.2
HemBe - 8.1
3 i 0.1 1.0
<8 & mE> 57.5 230.7
D. A. P 14.3 714
N. P. K 43.2 159.3
N = 57.6 355.6
f at (USTF# 9,021) (UST 4 45,780)
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